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1. DigiMon adopts a strategy of two part tariff and can charge different entrance fee. For him, the optimal
per unit price is

{A} equal to marginal cost

(B} below average total cost

{C) above average total cost

(D) equal to consumier surplus (per unit)

2. Assume swords and spears are substitutes and both goods are normal goods. Each of the following wxll
cause a decline in the demand for swords EXCEPT
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(A) An increase in the price of swords.

{B) A decrease in the price of spears.

(C) A dramatic decrease in the incomes of households.
(D) A. decrease in the number of martial art players.

3. Guns and bullets are complements and guns and swords are substitutes. A shift to the right of the market
demand curve for bullets could be caused by:
I. anincrease in the price of guns.
II. anincrease in the price of materials used to produce bullets,
III.  a decrease in the price of materials used to produce the bullets.
IV. anincrease in the price of swords.
‘Which of the following are correct?
{A)I and II only.
(B)1 and HI only.
(CY and IV only.
{DYIV only.

4, When there is a shortage in a market,
{A) there is downward pressure on price.
(B) there is upward pressure on price.

(C) the market could still be in equilibrium,
(D) the price must be above equilibrium.

5. Rice is the main input in the production of rice cakes. If the price of rice increases, all else equal, we
would expect

(A) the supply of rice cakes to be unaffected,

(B) the supply of rice cakes to decrease.

(C) the supply of rice cakes to increase.

(D) the demand for rice cakes to decrease.

6. In Neverland, spice and flour are grown and produced exclusively for the purpose of making spicy bread.
Assumning all other things are constant, you notice that the price of flour is higher. How would your demand
for spice be affected by this? ' ‘

(A)It would decrease.

(B) It would increase.

(C) It would be unaffected.

(D) There is insufficient information given to answer the question.

7. Other things equal, when the price of a good rises, the quantity supplied of the good also rises. This is
(A)the law of increasing costs.

(B) the law of diminishing returns.

(C) the law of supply.

(D)the law of demand.

8. Which of the following would NOT shift the demand curve for a good or service?
(A) a change in income '

(B) a change in the price of a related good

(C) a change in expectations about the price of the good or service

(D) a change in the price of the good or service

9. Suppose that the number of buyers in a market increases and a technological advancement occurs also.
What would we expect to happen in the market?
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(A) The equilibrium price would increase, but the impact on the amount sold in the market would be
indeterminate.

(B) The equilibrium price would decrease, but the impact on the amount sold in the market would be
indeterminate.

(C) Both equilibrium price and equilibrium quantity would increase,

(D) Equilibrium quantity would increase, but the impact on equilibrium price would be indeterminate.

10. Labor productivity may be measured by
(A) Average product of labor, (B) Price of the goods produced.

{C) Inventory turnover, (ID) Net profit margin,

11. Marginal Cost

(A) Equals marginal revenue. (B) Increases with the price of variable production factors.
{C)Ts constant. {D) Increases with unemployment rate.

12. Suppose demand in a market is given by P=93-2Q and both of the firms have MC=$§1,
If the two firms compete according to the Bertrand model, what price will we observe?

{A) 4.5; ®) 3.1; (2.1, Oy1.0

13. A game consists of each of the following parts except
(A) a pure strategy Nash equilibrium

(B) apayoff function for each possibie outcome

{C} asetofplayers

{D} a set of actions for each player

14. Companies

{A)} send signals to the market when there may be no adverse selection concerns.

{B) use AC = AR to determine the input production factor mix.

{C) may have stronger incentives to collude and set high prices in the economies where government
interventions are more often.

(D) May be selling goods that are with negatively sloped Engel Curves.

15. The total cost function of Acry Inc. is TC = 1000 + 600 Q +7 Q>. Then

(A) Ac=224 600+ 7¢

®) AFC:%"’
(C) TEC=1009

(D) All of the above answers are true,

16. Senior citizen discount at the movies is
(A)the 1¥ degree price discrimination. (B) the 2™ degree price discrimination.
(C) the 3" degree price discrimination. (D) the 4 degree price discrimination.
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